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Answer any ten questions. Ea-r.:h $’ 5@%6@5 \<\

1. Define the term

a) Indexing \’ ) Qgﬁp o(‘)
2. Differentiate between sta&&ast@?amb@w@ hashing.
o 2 %

3. List out the Operatm@X;t @use@ _ Do v

4. Differentiate bet@ na %‘%rﬂlt ry AccesSC Wrol and a Mancatory Access
Control. '

5. How to e@u‘nate the statnstlcs uf expression results in query optimization ?

O
6. Wh@re lock-based protocols ? Give example.

7. Define the terms :
a) recovery b) atomnicity

8. What are the functions of Network Processor, Remote data processor.

9. What are decision support systems and what role do they play in the business
environment ?

10. Define the term Deductive Database System.
11. Differentiate between the object-oriented and object-relational databases.

12. What are the various reference types that are used in SQL ? (10%3=30)
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SECTION - B
Answer all guestions. Each carries ten marks.

13. a) Explain the concept of B+-Tree index files and E+-Tra&ensicms with

suitable example.
N
OR (o)
b) Discuss in detail the concept of functions and cedures with suitable
example. <
O \}
14. a) Describe in detail the selection, sortin%gd _1((\ peration with suitable
examples.

{& N
b) Explain the cﬂncept of" sg’h@nn f.{amt expressmns and choice

of evaluation plans

15, a) Explain the concept of gﬁl l)vb@?m 2& currency control with suitable

example.
oF & O n

wgforaga structure of simple

16. a) DISCL@t e cun?pt nf\baralial database with example.
O OR

b) EXplain the concept of guery processing and cloud based database with
suitable example.

17. a) Explain the concept of relevance ranking with various terms with suitable
example.
OR

b) Describe in detail the various complex data types and structure types in
object-based database with suitable example.
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(5x10=50)




